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Exercise 2
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Exercise 4

(x—y)+ 2(x2—%y2) = X2 -2xy+ Yy +2x* —y? = 3x*-2xy
3(c?-d) + (2c-1)(3d +1)= 3c* ~3d +6cd +2c ~3d ~1 = 3c? —6d +6cd + 2¢ ~1

(a®—5b J —1(6a* — 2a%) = a*—10a% + 25b> —3a* + a%h = —2a* —9a’h+ 25b°

(2x -2y J-x)( 2x+3y )1+x) = (2% +(-2y+3y)}x—(-2y)-@y)- (1-x*) =

= (2 +2xy-6y?Ja-x°) = 47 + 2y —6y" ~ax’ -’y + 65y’

Exercise 5
=y = (x+y)(x-y) X* +5x+6= (x+2)(x+3)
a’-6a+9 = (a-3f 1-a° = (1+a*)1+a*)1+ a)(1-a)

4x* +9y? +12xy = (2x+ 3y)

25k? +25mk +6m* = (5k)’ +(2m+3m)-(5k)+2m-3m = (5k +3m)(5k +2m)




Exercise 6
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Exercise 7

The first set of two points (1,8 ) and (-3,0)

Equation of the straight line through these points y =2x+6

3 17 i :
And the two points (—E,SJ and [—ggj with equation y — —3x+1



Exercise 8

7x - 3y = 5 X + 2y +
6x — 5y = -3 2x + 3y -
3x — by +
Xx=2 y=3 Xx=3 y=2
ix + 2y =5 X + y -
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X +
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Exercise 9
3x < 1(2+14x)-1 = x<-¢
7x < 1(2+16x)-4 =  x=3
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4z = 6

z=1

3z = 24
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6-7x > 3(3-2x ) = 6—7x > 9—6x = 6Xx—7x > 9-6
-X > 3 = X < —3 I
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Exercise 11
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Exercise 12

2 +3x=-7x-12 =  2X*+10x+12=0 = Xx*+5x+6=0

(x+2)(x+3)=0 = X+2=0 v x+3=0 = X=—2 v x=-3

1 5x -3 x= 31
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’ 2
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